Distance 3

— — — Blossom
—XI—4
—I—38
16
—F—32
________ —f—64
4 8 16 32 64 128 256
Layer Size 1
(@)
— T
— — — Blossom
—XI— 4
—I— 8
16
—I— 32
—1— 64
—TF 128
—F— 256
4 8 16 32 64
Layer Size 2
(©
Distance 7
012 b :
0.1
0.08 — — — Blossom
= —F— 4
0. 0.06+ —F 8
16
0.04 _I_+ 2421
4 8 16 32 64 128 256
Layer Size 1
(e)
0.12+——— —=—— . ——=—— =
— — — Blossom
Ole—"  —— ;
0.08 %I N
= 16
o 0.06 T
=/ —F— 64
i 1128
0.04 / I
4 8 16 32 64
Layer Size 2

(9)

Distance 5
0.12 ! :
01F = iy a e al
— — — Blossom
£ 0.08¢ T
o —T—8
16
0.06 I
J —T—64
4 8 16 32 64 128 256
Layer Size 1
(b)
O.IZ?/ ]
_________ — — — Blossom
0.1 T4 ]
—I— 8
£ 0.08 16
o —I =
—1— 64
0.06+ E T
L —F— 256
4 8 16 32 64
Layer Size 2
(d)
Distance 9
(0 I o o s s e S et e ¢
0.1¢f
0.08 ¢ — — — Blossom
= —F— 4
& 0.06 I s
16
0.04 1 —I—+ Zi
4 8 16 32 64 128 256
Layer Size 1
(]
0VI2EE=E—F L — T —— L ===
011 T = [~ —sesan
b + 4
0.08 T
= 16
o 0.067 I 3
g T e
—]—128
0.04 / ——
4 8 16 32 64
Layer Size 2

(h)



